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Questions

Time allowed: 40 minutes. 
This paper consists of 20 multiple-choice type of questions. 
Each question has 4 alternative responses. 
You have to choose the correct response against each question. 
Answer all the questions. 
All questions carry equal marks. 
There is no negative marks for incorrect answers.

5. 1 point

Mark only one oval.

In news reporting.

In cultural affairs

in the area of human rights.

All of the above.

6. 1 point

Mark only one oval.

It means restructuring.

The control of the "Command" on the economy was loosened under this policy.

It had no impact on the Communist Party of Soviet Russia.

All of the above.

7. 1 point

Mark only one oval.

Collapse of the economy.

The Solidarity movement.

Lack of popular support of the Government led by Jaruzelski.

All of the above.

"Glasnost" was seen *

Which is incorrect about "Perestroika" ? *

Which of the following issue was responsible for the crisis of the
Communist regime in Poland during the end of the 1980s?

*
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8. 1 point

Mark only one oval.

Science and technological innovations.

IMF

Communication revolution.

All of the above.

9. 1 point

Mark only one oval.

A system of discrimination based on the colour of the people.

A system of governance based on equality.

A system of discrimination based on religion.

None of the above.

10. 1 point

Mark only one oval.

Its headquarter is situated in Dhaka.

Myanmar is a member of the SAARC.

It was established in Kathmandu (Nepal) in 1985.

All of the above.

Which of the following has played significant role in Globalization? *

Apartheid means *

Which of the following is incorrect about the SAARC? *
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11. 1 point

Mark only one oval.

it's full form is South Asian Free Trade Area.

This free trade agreement of the SAARC was signed in 2006 by replacing the
existing Preferential Trade Agreement.

It does not recognize the need for any special treatment for the least developed
countries.

None of the above.

12. 1 point

Mark only one oval.

It was a competition between the U.S. and Soviet Union and their respective
allies.

It was an ideological war between the super powers.

It triggered of an arms race.

The U.S. and U.S.S.R were engaged in direct wars.

13. 1 point

Mark only one oval.

Communism and Capitalism.

Monarchism and Capitalism.

Communalism and Capitalism.

None of the above.

Which of the following is incorrect about SAFTA? *

Which among the following statements about the cold war is wrong? *

Which two ideologies were involved in a conflict during the cold war? *
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14. 1 point

Mark only one oval.

Only i

Only ii

Both i & ii

None of the above.

15. 1 point

Mark only one oval.

UNO

PLO

USA

USSR

16. 1 point

Mark only one oval.

Only i

Only ii

Both

None of the above.

Which is true about Israel in the statements listed below? i) It is situated
towards the east of Mediterranean sea. ii) Jordan is the longest flowing
river in Israel.

*

Who proclaimed Palestine to be independent? *

Choose the correct statement about Israel Palestine conflict i) The
Israeli- Palestinian conflict is an ongoing struggle since mid 20th century.
ii) Between 1882 to 1948, the Jews gathered in Palestine from around
the world.

*
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17. 1 point

Mark only one oval.

Baghdad.

Vienna.

Russia.

None of the above.

18. 1 point

Mark only one oval.

OPEC

APEC

BRICS

SCO

19. 1 point

Mark only one oval.

i only

ii & iii only

i, ii & iii

i & iii only

The first OPEC conference was held in *

Which of the following organizations publishes the Oil Outlook annually? *

Consider the following statements about OPEC? i) The Secretariat of
OPEC is located at Vienna, Austria.  ii) The membership of OPEC is
open to any country which is a significant exporter of oil. iii) Qatar
terminated its membership of OPEC in 2019.

*
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20. 1 point

Mark only one oval.

American military escalation.

Arab-Israeli con�ict in the Middle-East.

Soviet intervention in Czechoslovakia.

All of the above.

21. 1 point

Mark only one oval.

SALT I

NNPT

SALT II

None of the above.

22. 1 point

Mark only one oval.

Geneva conference,1955 C.E

Conference at the Camp David, 1959 C.E.

Conference at Paris, 1960 C.E.

Third Congress of the Romanian Communist Party in June,1960 C.E.

"There had been some serious talk of convening Soviet-American arms
limitation talks in the mid 1960s". But some events and U.S.A and
U.S.S.R.'s intervention in these embittered the above mentioned
diplomatic talks. Which are they?

*

International Atomic Energy Administration, which was established in
Vienna under the dictum of the United Nations used to verify which
treaty's clauses?

*

Strike out the odd one? *
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23. 1 point

Mark only one oval.

China's undeclared war in KOREA.

Sino-Indian con�ict over Tibet.

Serious outrage emanated from Nationalist Regime of Taiwan and China's
challenge to subdue it.

All of the above.

24. 1 point

Mark only one oval.

only i is correct.

Only ii is correct.

only i & iii are correct.

All are incorrect.

This content is neither created nor endorsed by Google.

During  which events (where China was involved deeply) in different
stance of the Soviet Union reflected the drift between contemporary
U.S.S.R. and China?

*

Consider the following statement about the Sinai Peninsula:  i) It is
located between Red Sea and the Mediterranean Sea. ii) It is  a territory
of Israel. iii) It is the only part of Egypt in Asia.

*

 Forms



26/08/2022, 10:54 Online Internal Examination - CC14 [Modern Nationalism in India] 02.06.2022

https://docs.google.com/forms/d/1s46XU4jL3fzRESEaxBHgh5EBBBeZjZz8DPJ_7m7DIbI/edit 1/8

1. Email *

Candidate's Details

2.

3.

4.

Mark only one oval.

2020-2021

2019-2020

2018-2019

2017-2018

2016-2017

Online Internal Examination - CC14
[Modern Nationalism in India]
02.06.2022
DEPARTMENT OF HISTORY 
JHARGRAM RAJ COLLEGE 
SEMESTER 6 (HONOURS) 
YEAR 2022

* Required

Name in CAPITAL letters: *

Registration No. (Please don't write registration year): *

Registration Year: *



26/08/2022, 10:54 Online Internal Examination - CC14 [Modern Nationalism in India] 02.06.2022

https://docs.google.com/forms/d/1s46XU4jL3fzRESEaxBHgh5EBBBeZjZz8DPJ_7m7DIbI/edit 2/8

Questions

Time allowed: 40 minutes. 
This paper consists of 20 multiple-choice type of questions. 
Each question has 4 alternative responses. 
You have to choose the correct response against each question. 
Answer all the questions. 
All questions carry equal marks. 
There is no negative marks for incorrect answers.

5. 1 point

Mark only one oval.

'Indian Unrest' by Valentine Chirol

'A History of the Indian Nationalist Movement' by Verney Lovett

'The Oxford History of India: From the Earliest Times to the End of 1911' by
Vincent A. Smith

'Gandhi's Rise to Power: Indian Politics 1915-1922' by Judith M. Brown

6. 1 point

Mark only one oval.

(1) subalterns (2) elites

(1) people (2) elites

(1) elites (2) subalterns

(1) elites (2) people

7. 1 point

Mark only one oval.

autonomy within the empire.

abolition of the Arms Act.

purna swaraj.

indianisation of the superior grades of the administrative services.

Point out the odd one: *

According to the Imperialist writers, India's struggle for independence was
not a movement by the (1)__________, but a product of the needs and
interests of the (2)__________.

*

Early Congress (1885-1905) did not demand _______________. *
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8. 1 point

Mark only one oval.

was controlled by the zamindari class.

was later renamed as the Indian Association.

was led by Surendranath Banerjea.

had many non-o�cial Anglo-Indian members.

9. 1 point

Mark only one oval.

public cultural sphere

inner domain

outer domain

None of the above

10. 1 point

Mark only one oval.

'India's Struggle for Independence' - Bipan Chandra

'Modern India' - Sumit Sarkar

'From Plassey to Partition' - Sekhar Bandyopadhyay

'A History of Modern India' - Ishita Banerjee-Dube

The British Indian Association *

Partha Chatterjee has argued that long before the political struggle for
power began, Indian society was imagining its nation within the
__________________.

*

Which of the following contains a detailed discussion on the 'safety valve
theory'?

*
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11. 1 point

Mark only one oval.

Indian Association

National Social Conference

Madras Mahajan Sabha

Poona Sarvajanik Sabha

12. 1 point

Mark only one oval.

Failure of the Swadeshi and anti-partition movements to get the partition of
Bengal repealed.

Frustration of the youth with the constitutional methods of the moderates and
the passive resistance of the extremists.

Growing hatred among the youth for foreign rule due ro racial arrogance of the
British and the repressive measures adopted by the goernment.

All of the above.

13. 1 point

Mark only one oval.

Only 1

Only 2

Both 1 and 2

Neither 1 nor 2

Find out the odd one: *

Which of the following were the causes of the emergence and growth of
revolutionary terrorism in India?

*

The goal of the extremists was Swaraj. In this context, consider the
following statements: (1) For Bal Gangadhar Tilak, Swaraj meant Indian
control over the administration, but not a total severance of relations with
Great Britain. (2) Aurobindo Ghosh's idea of Swaraj was absolute political
independence from Great Britain. Identify the correct statements.

*
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14. 1 point

Mark only one oval.

1,2,3

1

1,2

3

15. 1 point

Mark only one oval.

1,2,3

1,2

3

2,3

16. 1 point

Mark only one oval.

Sir Syyid's political ideas were in�uenced by the ulama.

Sir Syyid believed in loyalty towards the British administration.

Sir Syyid was opposed to Congress politics.

Sir Syyid did not imagine India as a nation state based on individual citizenship.

Curzonian administration gave reason for why it wanted to partition
Bengal. But, the actual reason/s for the partition of Bengal, according to
historians, was/were (1) creation of religious division of the population.
(2) creation of linguistic unity of the population. (3) administrative
efficiency.

*

Which of the following is/are true? (1) Swadeshi leaders had forced
Muslim peasants to observe boycott. (2) Swadeshi leaders used Hindu
religious symbols in their political language. (3) Swadeshi period
witnessed communal riots in Bengal.

*

Which of the following is not true about Sir Syyid Ahmad  Khan's Aligarh
movement?

*
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17. 1 point

Mark only one oval.

1

2

3

2,3

18. 1 point

Mark only one oval.

Swami Vivekananda

Bankim Chandra Chattopadhyay

Sasadhar Tarkachuramoni

All of the above

19. 1 point

Mark only one oval.

The movement derived inspiration from the Orientalist construction of India.

The movement created imaginary history of the Indian past.

Annie Besant was not associated with the movement.

The movement failed to appeal the lower caste masses.

The initiative for the Shimla deputation of 1 October 1906 to the Governor
General Lord Minto came from the: (1) British administration (2) Aligarh
leaders (3) Bengal muslim leaders

*

Who among the following was/were against the Age of Consent Bill
(1891)?

*

Identify the false statement about Hindu revivalist movement in the 19th
and early 20th century.

*
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20. 1 point

Mark only one oval.

Only 1

Only 2

Both 1 and 2

Neither 1 nor 2

21. 1 point

Mark only one oval.

1,2,3,4

1,3,4

1,2,3

3,4

22. 1 point

Mark only one oval.

'The Nation and its Fragments: Colonial and Postcolonial Histories'

'Texts of Power: Emerging Disciplines in Colonial Bengal'

'The Politics of the Governed'

'The Black Hole of Empire: History of a Global Practice of Power'

Consider the following statements: (1) Rajendra Prasad and J.B. Kripalani
played very little role in mobilising the peasants in the Champaran
Satyagraha. (2) Gujarat Sabha's intervention in the Kheda Satyagraha was
not significant. Choose the correct option.

*

Gandhian thought was influenced by (1) Vaishnavism (2) Jainism (3)
John Ruskin (4) Ralph Waldo Emerson

*

Partha Chatterjee's has critiqued Benedict Anderson's thesis on
nationalism. He has argued about the spiritual and material domains of
action of the Indian educated middle class in his book

*
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23. 1 point

Mark only one oval.

decentralisation of power

non-violence

satyagraha

swaraj

24. 1 point

Mark only one oval.

dual government at the centre

dyarchy in the provinces

bicameral legislature at the centre

extension of separate electorate

This content is neither created nor endorsed by Google.

Hiteshranjan Sanyal says, according to Gandhi, 'ahimsa' means *

Which of the following was not a feature of the Montagu-Chelmsford
Reforms?

*

 Forms
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Questions

Time allowed: 40 minutes. 
This paper consists of 20 multiple-choice type of questions. 
Each question has 4 alternative responses. 
You have to choose the correct response against each question. 
Answer all the questions. 
All questions carry equal marks. 
There is no negative marks for incorrect answers.

5. 1 point

Mark only one oval.

Massive fall in the Per Capita Real GDP.

High in�ation.

High rate of unemployment.

None of the above.

6. 1 point

Mark only one oval.

Hitler was vocal about the injustices of the treaty of Versailles.

Hitler withdrew Germany from the Disarmament Conference in 1933.

Hitler did not abrogate the Weimar Constitution after becoming the Dictator of
Germany.

All of the above.

7. 1 point

Mark only one oval.

Germany signed a non-aggression pact with Poland for 10 years in 1934.

Hitler had to occupy Saar region by using force because the result of the Saar
Plebiscite went against Germany.

The Anglo German Naval agreement of 1935 helped Germany to strengthen its
naval power.

None of the above.

Which of the following is incorrect about the impact of the Global
Economic Depression (1929-32)?

*

Which  of the following is incorrect? *

Which of the following is incorrect about the Foreign policy of Hitler? *
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8. 1 point

Mark only one oval.

The Government set up by General Franco was initially recognized by Italy and
Germany.

The Non Intervention Committee had actually helped the Republican Government
of Spain.

Italy had helped Franco by providing arms and ammunition but did not sent
troops.

All of the above.

9. 1 point

Mark only one oval.

A.J.P.Taylor, in his book, Germany's Aims in the First World War, opines that World
War I happened because Germany needed it and her statemen and generals forced it
to explode.

Frits Fischer in his book, How Wars Begin points out that the in�exible rail-road
mobilization timetables was an important catalyst for the outbreak of the war.

Samel Williamson in his book, Austria-Hungary and the Origins of the First World
War stressed on the undercurrent with the realm of the empire.

All of the above.

10. 1 point

Mark only one oval.

i & ii

ii & iii

only iii

All of the above.

Which of the following is correct about the Spanish Civil War ? *

Mention the true statement/statements *

What is/ are the basis of Arab Nationalism?                            i)The
westernization that had come from French and American cultural
influences. ii) British commercial activity. iii)Nationalist endeavour of
"Young Turks".

*
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11. 1 point

Mark only one oval.

i & ii

ii & iii

ii & iv

i & iv

12. 1 point

Mark only one oval.

Sykes-Picot Agreement.

Peace treaty of Riga.

Commercial Pact betwEen Great Britain and Russia.

Friendship Treaty among Russia, turkey, Persia and Afganistan.

13. 1 point

Mark only one oval.

only i

only ii

only i & iii

All of the above.

Mention the false statement/statements                            i)Austria was
made to cede to Italy, Trieste, Istria, Tyrol ... up to the... Brenner pass.        
                                               ii)Also she was made to cede Bukoviana to
Czechoslovakia.                                                                      iii) Her
union(Anschluss) with Germany was forbidden. iv) Her army was limited
to only 10,000 men but their permanence in service remained unaltered.

*

Strike out the odd one *

Which of the following statement/s is/are correct about the Soviet-
German Non-aggression pact:                                              i) The validity
period of the agreement was 10 years.   ii) it was decided that if any one
of them comes under attack from a third party, then the other party would
not support the attacker.  iii) The northern frontier of Lithuania shall
represent the frontier of the sphere of interest both of Germany and
USSR.

*
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14. 1 point

Mark only one oval.

only i

only ii

Both

None

15. 1 point

Mark only one oval.

only i

only i & ii

All of the above.

None of the above.

16. 1 point

Mark only one oval.

It was announced by the US President Woodrow Wilson in 1918.

It asked for restricted freedom of navigation on the seas outside the territorial
waters.

It proposed the formation of a general association of nations.

None of the above.

Which of the following statement/s is/are incorrect about the Tehran
conference: i)  Russia agreed in principle to declare war against Japan. ii.
U.S.A accepted the Russian demand over the Kurile islands.

*

Which of the following is/are correct about the Yalta conference: i) U.S.A.
and Britain agreed to allow "friendly" governments in the countries
bordering Soviet Russia. ii. All parties agreed to give veto power to all the
 permanent members of the proposed United Nations Security Council.
iii) France was not given the permanent membership in this proposal.

*

Which of the following is/are incorrect? *
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17. 1 point

Mark only one oval.

It prohibited the use of biological weapons but allowed chemical weapons to be
used in war.

It was signed in 1925 and came into force in 1928.

Both of the above.

None of the above.

18. 1 point

Mark only one oval.

It was signed between Britain, France, Belgium, italy and Germany.

Germany was treated as an equal partner in foreign affairs.

Both of the above.

None of the above.

19. 1 point

Mark only one oval.

It empowered the President of USA only to lend and lease but not to sell certain
defense articles.

It permitted the President to lend military hardware to any country that he deems
vital to American national security.

Both of the above.

None of the above.

Which of the following is incorrect about the Geneva Protocol? *

Which of the following is correct about The Locarno Pact of 1925? *

Which of the following is incorrect about the Lend Lease Act of 1941? *



26/08/2022, 10:50 Online Internal Examination - DSE3 [War and Diplomacy, 1914-1945] 03.06.2022

https://docs.google.com/forms/d/1S_6s7KfyuRcAt-nbOXfItgEB-Fa2AhACglYRdq7C9rg/edit 7/8

20. 1 point

Mark only one oval.

Only ii

Only i & ii

ii & iii

i, ii & iii.

21. 1 point

Mark only one oval.

1,2

1,3

3

None of the above

22. 1 point

Mark only one oval.

was the newspaper of the Mensheviks since 1903.

was the newspaper whose editorship was taken over by the Bolsheviks in 1903.

was the state mouthpiece of the Tsar till 1905.

was the mouthpiece of the Petrograd Soviet since 1905.

Which of the following statement/s is/are correct about the Potsdam
conference : i)It was decided that Germany to be occupied by the Allied
powers. ii) The German-Poland-Russian borders were revised. iii) It was
agreed to demilitarize Germany completely.

*

Which of the following is false about the Bolsheviks? [1] The Bolsheviks
boycotted the elections to the First State Duma in 1906. [2] Lenin had
insisted on restricting Bolshevik party's membership to professional
revolutionaries. [3] Bolshevik's were initially a part of the Russian Social-
Democratic Workers' Party.

*

Iskra *
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23. 1 point

Mark only one oval.

The Revolution of 1905 was a 'bourgeois revolution'.

The Revolution of 1905 was an incomplete 'bourgeois revolution'.

The Russian bourgeois in 1905 was capable of completing the 'bourgeois
revolution'.

The Russian proletariat in 1905, in alliance with the peasantry would complete
the 'bourgeois revolution'.

24. 1 point

Mark only one oval.

Revisionist

Western Liberal

Soviet

Marxist

This content is neither created nor endorsed by Google.

In the context of Lenin's 'Two Tactics of Social Democracy in the
Democratic Revolution' (1905) identify the false statement.

*

The Russian working class was led to victory by the Bolshevik Party- the
'vanguard of the proletariat' - with Lenin at its head. The Great October
Socialist Revolution brought in a new era in the history of mankind, the
era of socialism, which would in turn develop into communism. The
above approach is that of a ___________________ historian of the Russian
Revolution.  

*

 Forms
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2.

3.

4.

Mark only one oval.
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2018-2019
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Questions

Time allowed: 40 minutes. 
This paper consists of 20 multiple-choice type of questions. 
Each question has 4 alternative responses. 
You have to choose the correct response against each question. 
Answer all the questions. 
All questions carry equal marks. 
There is no negative marks for incorrect answers.

5. 1 point

Mark only one oval.

jalakoopi

udakadhara

udakabhaga

tadaga

6. 1 point

Mark only one oval.

Neytal

Marutam

Palai

Uzhavar

7. 1 point

Mark only one oval.

Parathavars

Idaiyars

Maravars

Vetars

Pick out the odd one: *

Point out the odd one: *

____________ lived in the tinai Palai. *
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8. 1 point

Mark only one oval.

atavika

dharma

sacred groves

rakshasas

9. 1 point

Mark only one oval.

Kautilya advises the King to protect hastivans.

Kautilya prohibits sell or mortgage of wells, tanks or reservoirs by an individual.

Kautilya divides the landmass between the Himalayas and oceans into seven
geological regions.

Kautilya asks gramika to protect animals from cruelty.

10. 1 point

Mark only one oval.

David Arnold

Chetan Singh

Divyabhanusinh

Mahesh Rangarajan

According to certain ancient Indian texts, ______________ is absent in vana. *

Which of the following is not true about the Arthashastra? *

Who among the following historians has written on the relationship of the
Mughal State with the agrarian society, forests and pastoralists?

*
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11. 1 point

Mark only one oval.

uparghati

righni

qamargha

kamarkach

12. 1 point

Mark only one oval.

Only 1

Only 2

Both 1 and 2

Neither 1 nor 2

13. 1 point

Mark only one oval.

1

1,2,3

1,2

3

Point out the odd one: *

Cheetahs have been depicted in several Mughal miniature paintings. In
this context, consider the following statements: [1] No miniature painting
of the cheetah from Jahangir's time is known to have survived. [2]
Depiction of cheetahs are found in miniature paintings on folklore and
fable. Which of the following is/are correct?

*

Consider the following statements about the agricultural practices of the
Harappan period: [1] Evidence of ploughed field has been found from
Kalibangan. [2] Terracotta models of plough have been discovered from
Banwali. [3] No remains of actual wooden plough has been found from
any Harappan sites. Which of the following statements is/are correct?

*
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14. 1 point

Mark only one oval.

Sindhu-Saraswati valley

Ghaggar-Hakra valley

Indus valley

None of the above

15. 1 point

Mark only one oval.

Ain-i-Akbari states that the Mughal state allowed tax exemptions on cattle.

Abul Fazl mentions that the Hazaras and the Afghans controlled the pasture
lands of the suba Kabul.

The Mughal state gave tax concessions for extension of cultivation in waste
lands.

Mughal land revenue regulations were uniformly applied to the whole empire.

16. 1 point

Mark only one oval.

reserved pasture land

reserved forest

agricultural land owned by the state

forest reserved for royal hunting

Harappan civilization was confined to the _____________ region. *

Identify the false statement: *

The term 'ghali' in Mughal India meant *
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17. 1 point

Mark only one oval.

'jatidharma'

'ahimsa'

state power

tribal customs

18. 1 point

Mark only one oval.

Only 1

Only 2

Both 1 and 2

Neither 1 nor 2

19. 1 point

Mark only one oval.

‘Bamboo groves’ - Rajbanshi community of North Bengal

'Kovil Kadu' - Tamil Nadu

‘Orans’ - West Rajasthan

‘Sarnas’ - Kerala

Madhav Gadgil and Ramachandra Guha's research have shown that in
'conservation from below' _________ plays a significant role.

*

Consider the following statements: [1] Xuan Zang/Huien Tsang, the
Chinese pilgrim who visited India between 629-645CE mentions  how
'conservation from above' approach was taken by king Harsha. [2] Romila
Thapar disagrees with the view that Asoka was an environmentalist.
Choose the correct option.

*

Which of the following sacred groves and their geographical location is
incorrectly matched?

*
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20. 1 point

Mark only one oval.

was the famous sacred grove mentioned in the Mahabharata.

was the sacred grove associated with the episode of Rama's exile to the forest.

was the sacred grove associated with the life of Mahavira.

None of the above.

21. 1 point

Mark only one oval.

asrama

grama

kshetra

vana

22. 1 point

Mark only one oval.

conservation of forest

destruction of forest

varnasramadharma

conversion of 'vana' to 'kshetra'

Ayyappan Kavu *

According to Romila Thapar, ______________ was the precursor of the
'agrahara'.

*

The myth of Ila was associated with the idea of *
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23. 1 point

Mark only one oval.

1,2,3

2,3

1,2

1,3

24. 1 point

Mark only one oval.

Peepal

Banyan

Kadamba

Tamal

This content is neither created nor endorsed by Google.

The 'atavika' are frequently mentioned in ancient Indian texts and
inscriptions. Which of the following about them is correct? [1] Kautilya
suggests that atavikas could be used by a king to create trouble in
neighbouring kingdoms. [2] Asoka takes stern policy towards the
atavikas. [3] Samudragupta reduced the atavika rajas to servitude.  

*

The Bhagvad Gita refers to ______________ tree as a keystone resource. *

 Forms


